Reflection Sheet

Name: Date: Week #:
[ Assignments Grade Comments
‘ Parent Signature Please sign weekly
] Date Class work Homework (must write in planner as well)
‘ Monday
i
{ sday
Wednesday
Thursday
“riday

¥¥*¥¥Students must complete their homework daily, 100%; the consequence = silent lunch daily ****

Parent Signature:




Essential Questions Answers

1.

10.

¢

Ms. Alford- tlalford @wsfcs.k12.nc.us Mrs, Reyes- vdreyes@wsfcs.k12.nc.us Mrs. Shore- jlshore@wsfcs.k12.nc.us




Name:

Date:

“Warm-up’s Q1W4”

Week:

Monday Warm-up
Solve.

Show all your work

Tuesday Warm-up
8.NS.2
Estimate the irrational number to the nearest

whole number.

Show all work here

Wednesday Warm-up
(8.EE.1)
What is the value of the following expression?

Show all work here

Thursday Warm-up

1 1
Solve. 5 + —35







EXPONENT RULES & PRACTICE

1. PRODUCT RULE: To multiply when two bases are the same, write the base and ADD the exponents.
x™ .oy = xm+n

Examples:

A xFay® myt? By 2% p% = s C. (x%y)(x®y*) = x%y°

2. QUOTIENT RULE: To divide when two bases are the same, write the base and SUBTRACT the exponents.

X -
x_n j— xm n
Examples:
% _ .3 3% _ .2 x*yS .2
A S=x B. 57=3 C. g Ty
3. ZERO EXPONENT RULE: Any base (except 0) raised to the zero power is equal to one.
= 1q
Examples:
A =1 B, %=1 ' C (7e®*p )P0 =1
4, POWER RULE: To raise a power to another power, write the base and MULTIPLY the exponents.
(Y o it
Examples:
B[22 e g B, [3%)*=23" € (E®)2=2z¥

5. EXPANDED POWER RULE:
m m
ym=amyn (5) =2

Examples:

B (8" == P02 =8g° 4 B (x'zf 58
@ -t

B. {6x°)% =62(")% = 36x°

3

(3)3 _(2x)? 2% ex
3y2) T (323 33(y13 T 27y8
6. NEGATIVE EXPONENTS: If a factor in the numerator or denominator is moved across the fraction bar, the sign

of the exponent is changed.
prek Lo (@70
) X

xm x—Tﬂ y
Examples:
-3 _ 1 21 _ 1 _ —4x5
A x = B. 4 =21 C. —4x5y 2 = "
-3 = = - e
&) =) =2 £ (Bx72y)(-2ay™) = —6x7ly 2 =
¥y x x
a'"Zbﬂ _ b3ctd s __sz -2 y4 2 yS
e i G. (—2x2y~%)"2 :( = ) - (—sz) =2

CAUTION: —x ii For example; —3 ?&%
REMEMBER: An exponent applies to only the factor it is directly next to unless parentheses enclose other factors.

Examples:
A (=32 =(-3(-3)=9 B. —32=-9
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